Onset of Aid Commands (Tables I and II)- BrianLaiOnsetAid.dta

heckman lnaid nthreat troopdum allydum hr regime lnexp lnpop2  if year<1991, select(taid=nth

> reat troopdum allydum hr regime lnexp lngdpc aidyear2 cwspline*) cluster(ccode)

heckman lnaid nthreat troopdum allydum hr regime lnexp lnpop2  if year>1990, select(taid=nth

> reat troopdum allydum hr regime lnexp lngdpc aidyear2 pcwspline*) cluster(ccode)

heckman lnaid nthreat troopdum allydum hrdum2 regime lnexp lnpop2  if year>1990, select(taid=nth

> reat troopdum allydum hrdum2 regime lnexp lngdpc aidyear2 pcwspline*) cluster(ccode)

heckman lnaid nthreat troopdum allydum hrdum2 elinst fulinst lnexp lnpop2  if year>1990, sel

> ect(taid=nthreat troopdum allydum hrdum2 elinst fulinst lnexp lngdpc aidyear2 pcwspline*) cl

> uster(ccode)

heckman lnaid nthreat troopdum allydum hrdum2 instab deminstab lnexp lnpop2  if year>1990, s

> elect(taid=nthreat troopdum allydum hrdum2 instab deminstab lnexp lngdpc aidyear2 pcwspline*

> ) cluster(ccode)

heckman lnaid nthreat troopdum allydum hrdum2 regime demthr lnexp lnpop2  if year>1990, sele

> ct(taid=nthreat troopdum allydum hrdum2 regime demthr lnexp lngdpc aidyear2 pcwspline*) clus

> ter(ccode)

Table III commands- BrianLaiFullAid.dta

heckman lnaid nthreat troopdum allydum hr regime lnexp lnpop2 lnlag  if year<1991, select(ta

> id=nthreat troopdum allydum hr regime lnexp lngdpc aidyear cwspline*) cluster(ccode)

heckman lnaid nthreat troopdum allydum hr regime lnexp lnpop2 lnlag  if year>1990, select(ta

> id=nthreat troopdum allydum hr regime lnexp lngdpc aidyear pcwspline*) cluster(ccode)

heckman lnaid nthreat troopdum allydum hrdum2 regime lnexp lnpop2 lnlag  if year>1990, selec

> t(taid=nthreat troopdum allydum hrdum2 regime lnexp lngdpc aidyear pcwspline*) cluster(ccode

> )

heckman lnaid nthreat troopdum allydum hrdum2 elinst fulinst lnexp lnpop2 lnlag  if year>1990, sel

> ect(taid=nthreat troopdum allydum hrdum2 elinst fulinst lnexp lngdpc aidyear pcwspline*) cl

> uster(ccode)

heckman lnaid nthreat troopdum allydum hrdum2 instab deminstab lnexp lnpop2 lnag  if year>1990, s

> elect(taid=nthreat troopdum allydum hrdum2 instab deminstab lnexp lngdpc aidyear pcwspline*

> ) cluster(ccode)

heckman lnaid nthreat troopdum allydum hrdum2 regime demthr lnexp lnpop2 lnlag  if year>1990, sele

> ct(taid=nthreat troopdum allydum hrdum2 regime demthr lnexp lngdpc aidyear pcwspline*) clus

> ter(ccode)

